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ES(son)FEFH, SFEAHZ

{code=0000,
charset=UTF-8,
mld=51000001,
rDesc=,
cy=156,
sendTime=20200316061253,
cld=test-1,
tType=01,
pSt=02,
oNum=TEST 1584339173825,
pT=00,
orSeq=20031614120015152511,
omt=1}

FE—, LEFHFHRASIREson

public static void main(String[] args) {

String a = "{code=0000,charset=UTF-8, mld=51000001, rDesc=, cy=156, sendTime=20200
16061253,cld=test-1, tType=01, pSt=02, oNum=TEST 1584339173825,pT=00, orSeq=200316
4120015152511,omt=1}";

//BE—, WIEBFRFEREASIREsoN

String b = a.replaceAll(" ","").replaceAll("=","\":\"");

b = b.replaceAll("\\{","{\"");

b = b.replaceAll("}","\"}");

b = b.replaceAll(",","\"\"");

JSONODbject data = JSON.parseObject(b);
logger.info("b0:"+b);
logger.info("b1:"+data.toJSONString());

}

hE—, EFEL

b0:{"code":"0000","charset":"UTF-8","mld":"51000001","rDesc":"","cy":"156","sendTime":"2020
316061253","cld":"test-1","tType":"01","pSt":"02","oNum":"TEST _1584339173825","pT":"00","0
Seq":"20031614120015152511","omt":"1"}
b1:{"charset":"UTF-8","code":"0000","tType":"01","oNum":"TEST_1584339173825","pT":"00","r
esc":"","mld":"51000001","orSeq":"20031614120015152511","sendTime":"20200316061253","
St":“oz“,“cy“:“1 56"I"Omt":"1 “,“Cld":"test—1 ll}

BEZ, LEFFFHRAFEIREson+Gson

public static void main(String[] args) {

/IHRZ, SEFREHFEREson+Gson

String aa = "{code=0000,charset=UTF-8, mid=51000001, rDesc=, cy=156, sendTime=2020
316061253, cld=test-1, tType=01, pSt=02, oNum=TEST 1584339173825,pT=00, orSeq=20031
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14120015152511,omt=1}";

String bb = aa.replaceAll("=","
logger.info("bb0:"+bb);
Gson g = new Gson();

).replaceAll(":,","\"\",");

JsonObject obj = g.fromJson(bb, JsonObject.class);

logger.info("bb1:"+0bj.toString());

}

HEZ, EFNH

bb0:{code:0000,charset:UTF-8, mld:51000001, rDesc:"", cy:156, sendTime:20200316061253,cld:
est-1, tType:01, pSt:02, oONum:TEST 1584339173825,pT:00, orSeq:20031614120015152511,omt

1}

bb1:{"code":"0000","charset":"UTF-8","mId":51000001,"rDesc":"","cy":156,"sendTime":2020031
061253,"cld":"test-1","tType":"01","pSt":"02","oNum™":"TEST _1584339173825","pT":"00","orSeq"

20031614120015152511,"omt":1}
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